600 HET -XEFHERS

| —BEFIUILR ]

[ e om o ———— g 1 25 |l 7 o)
2 RA RS (B :lﬂ 83 82 L 26 B EH EEE)
3 HEE tEZ R R) 50 ki L 83 21 WP AL (7 K5)
4R R B 80 &3 N 28 Ak K (EEE)
5 BYE :I— ?5 Yfzk 29 BYE
6 R JE (EEbEE) —————— Fis m 30 #k - CRPMEE)
TR AT ) ———— ik 83 =T 83 ap [ 3L AB & UEH7R)

81 = 8-1
8 BYE 32 BYE
9 A i GEEBETD) _ L e ok L . AN ORA RIS
P e 1 8-3 6-2 81 P
10 /2 =2 (B )-v) okt 6-3 *ﬂ—H‘I': 34 FnH 5L (BRH Z A)
1R R ) Sl x| O 35 MR BE EEBHT)
12 [l Her (TR —— 80 K% A & 36 A WE (=)
13 |le B OF W) ) &0 & i 3T |[RE IRE (W T %)
14 KT B () ; - - 38 KK B (Ea—)
B R A
15 B % 08 )-) & s i &2 39 B HE ()
16 HER BIE (HERBE ) : - 10 TR Rk (m—)
7 £
82 S . L
17 BYE _ . Sk 4 fHE KT HERSE)
18 WE e 72— 80 s A e A LN VPN T )
19 TE SOk (BR—) —————— - &3 A 1 AR B W)
8-2 8-2

20 BYE 4 BYE

21 KSR OREGHET) _ L - —1L_ B K GRS
22 WIE M (KA T R) - 80 80 Hﬁi': 46 MM (REER)
23 /MK BEHE CRESHIT) o an | F° 7 ENEE ORESE)

o0 |bw A ) ———— 80 82 a8 | ()

| HEBFL VLR |

[ ]we sem o)

2 BYE } gy
3 oAl W URATA) .| o0
deiy
4 B B (7R 60 L
5 FiE 3L (RH T R) bk 64
6 Mk HE (7 RS) o |
TOBSE W 00 s %3
|
8 WM T (7 RS _ e
0 HA  FE (=890
T
10 WE Wz R 2) ST ok
11 HEE (7 KA e |
12 HER 8 ) 60 s
13 BK O (o) ok o
14 BPESY e (7 KAY) 6-2 s
'ﬁ g -
W.0 N
15 BYE SRS . s RS, 5 PR .
| SEVY) BN - S EET  HE REEN 88 BTET
16 Jen s o W _



